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Question: 1

Changes in sensory aphasia are often associated with a lesion.

A. Frontal lobe
B. Parietal lobe
C. Broca's area
D. Wernicke's area

Answer: D

Which of the following diseases has not been directly linked with Bell's palsy?

A. AIDS

B. Diabetes

C. Lyme disease

D. Alzheimer's disease

Answer: D

Which of the following cervical nerve roots best corresponds with activation of the triceps

muscle?

A.C5
B. C6
c.c7
D.T2

Answer: C

| ___Question:4

The upper and middle trunks of the brachial plexus combine to form the

A. Lateral
B. Posterior

cord.
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C. Medial
D. Anterior

Answer: A

The upper, middle, and lower trunks of the brachial plexus combine to form the
cord.

A. Lateral
B. Posterior
C. Medial
D. Anterior

Answer: B

Question: 6

The lower trunk of the brachial plexus forms the cord.

A. Lateral
B. Posterior
C. Medial
D. Anterior

Answer: C

| ___Question:7 |

Jerky and sudden random movements are often associated with a lesion.

A. Midbrain
B. Basal ganglia
C. Subthalamic
D. Thalamus

Answer: B

Question: 8
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Which of the following arteries supplies Broca's area?

A. ACA
B. MCA
C.PCA
D. Lateral striate

Answer: B

Question: 9

Which of the following arteries if ruptured can cause an oculomotor palsy?

A. ACA
B. MCA
C.PCA
D. Lateral striate

Answer: C

Which of the following is not true concerning Brown-Sequard syndrome?

A. Contralateral spinothalamic deficits
B. Ipsilateral spinothalamic deficits

C. Ipsilateral dorsal column deficits

D. Ipsilateral pyramidal tract deficits

Answer: B

| Question: 11

Which of the following syndromes corresponds to: A failure of neutrophils to generate an
immune response and lab values indicate elevated IgE levels?

A. Job's syndrome

B. Wiskott-Aldrich syndrome
C. Carcinoid syndrome

D. Mallory-Weiss syndrome
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Answer: A

| Question: 12

Which of the following syndromes corresponds to: right sided valvular disease and diarrhea?

A. Job's syndrome

B. Wiskott-Aldrich syndrome
C. Carcinoid syndrome

D. Mallory-Weiss syndrome

Answer: C

Which of the following syndromes corresponds to: lab values indicate elevated IgA levels
and presence of thrombocytopenia?

A. Job's syndrome

B. Wiskott-Aldrich syndrome
C. Carcinoid syndrome

D. Mallory-Weiss syndrome

Answer: B

Question: 14

Which of the following syndromes corresponds to: presence of arthritis and commonly found
in males?

A. Reiter's syndrome

B. Sjogren's syndrome

C. Kartagener's syndrome
D. Ehlers-Danlos syndrome

Answer: A

| Question:15____

Which of the following syndromes corresponds to: immotile sperm and presence of
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reoccurring sinusitis?

A. Reiter's syndrome

B. Sjogren's syndrome

C. Kartagener's syndrome
D. Ehlers-Danlos syndrome

Answer: C

| ___Question:16

Which of the following syndromes corresponds to: presence of arthritis, xerophthalmia and
commonly found in females?

A. Reiter's syndrome

B. Sjogren's syndrome

C. Kartagener's syndrome
D. Ehlers-Danlos syndrome

Answer: B

Question: 17

Which of the following syndromes corresponds to: excessive movement occurring at joints
and loose skin?

A. Reiter's syndrome

B. Sjogren's syndrome

C. Kartagener's syndrome
D. Ehlers-Danlos syndrome

Answer: D

Which of the following syndromes corresponds to: hematuria, glomerulonephritis and
pulmonary dysfunction?

A. Brown-Sequard syndrome
B. Thoracic outlet syndrome
C. Angelman's syndrome

D. Goodpasture's syndrome
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Answer: D

| Question:19

Which of the following syndromes corresponds to: presence of ipsilateral motor loss and
contralateral spinothalmic tract damage?

A. Brown-Sequard syndrome
B. Thoracic outlet syndrome
C. Angelman's syndrome

D. Goodpasture's syndrome

Answer: A

Which of the following syndromes corresponds to: C8/T1 nerve involvement and weakness
in hand muscles?

A. Brown-Sequard syndrome
B. Thoracic outlet syndrome
C. Angelman's syndrome

D. Goodpasture's syndrome

Answer: B

Which of the following syndromes corresponds to: maternal genetic phenotype syndrome?

A. Brown-Sequard syndrome
B. Thoracic outlet syndrome
C. Angelman's syndrome

D. Goodpasture's syndrome

Answer: C

| Question: 22|
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Which of the following syndromes corresponds to: Abnormal development of the 3rd and 4th
(Pharyngeal pouches)?

A. Acute coronary syndrome
B. ARDS

C. Budd-Chiari syndrome

D. DiGeorge's syndrome

Answer: D

| ___Question:23

Which of the following syndromes corresponds to: leads to an increased risk of stroke?

A. Acute coronary syndrome
B. ARDS

C. Budd-Chiari syndrome

D. DiGeorge's syndrome

Answer: A

Which of the following syndromes corresponds to: abdominal pain, ascites, and hepatic vein
occulsions?

A. Acute coronary syndrome
B. ARDS

C. Budd-Chiari syndrome

D. DiGeorge's syndrome

Answer: C

Which of the following syndromes corresponds to: increased pulmonary permeability and
fluid entering the lung space?

A. Acute coronary syndrome
B. ARDS

C. Budd-Chiari syndrome

D. DiGeorge's syndrome

Visit us athttps://www.certsgrade.com/pdf/ccrn-adult/


https://www.certsgrade.com/pdf/ccrn-adult/

Answer: B

| Question:26

Which of the following syndromes corresponds to: can be caused by high doses of
Tetracyclines?

A. Dubin-Johnson syndrome
B. Fanconi's syndrome

C. Edward's syndrome

D. Cri-du-chat syndrome

Answer: B

Which of the following syndromes corresponds to: caused by poor liver excretion?

A. Dubin-Johnson syndrome
B. Fanconi's syndrome

C. Edward's syndrome

D. Cri-du-chat syndrome

Answer: A

Which of the following syndromes corresponds to: chromosomal deficit of #5?

A. Dubin-Johnson syndrome
B. Fanconi's syndrome

C. Edward's syndrome

D. Cri-du-chat syndrome

Answer: D

Question: 29

Which of the following syndromes corresponds to: chromosomal deficit of #187?
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A. Dubin-Johnson syndrome
B. Fanconi's syndrome

C. Edward's syndrome

D. Cri-du-chat syndrome

Answer: C

| Question:30

Which of the following syndromes corresponds to: chromosomal deficit of #13?

A. Dubin-Johnson syndrome
B. Patau's syndrome

C. Edward's syndrome

D. Down syndrome

Answer: B

Visit us athttps://www.certsgrade.com/pdf/ccrn-adult/


https://www.certsgrade.com/pdf/ccrn-adult/

For More Information - Visit link below:
https://www.certsgrade.com/

PRODUCT FEATURES

100% Money Back Guarantee

90 Days Free updates

Special Discounts on Bulk Orders
Guaranteed Success

50,000 Satisfied Customers
100% Secure Shopping

Privacy Policy

FEFEEEEEE

Refund Policy

20% Discount Coupon Code: 200ff2019

Visit us athttps://www.certsgrade.com/pdf/ccrn-adult/



http://www.tcpdf.org
https://www.certsgrade.com/pdf/ccrn-adult/

